Oppgaver til kollokvium 15.september 2004 – MED SVAR
Populasjonsgenetikk

1) Hva er betingelsene for at en populasjon skal kunne opprettholde Hardy-Weinberg likevekten?

p. 457. 

Large population size; No migration; No net mutations; 

Random mating; No natural selection

2) Hos roser bestemmes farge av et gen , allelet R gir rød farge og er dominant i forhold til allelet r for gul farge. Gitt at 58% av rosene i en populasjon er røde, hva er allelfrekvensen for det recessive allelet? Hvor mange prosent er heterozygote?                                                    0.65, 45%                                                                                                                                   58% [R] ( 42% [r] = 42%(rr) ( q² = 0.42 ( q = 0.65 ( 2pq = 2 x 0.35 x 0.65 = 0.45 = 45%

3) I en populasjon av inuitter finnes bare antigener for A og 0. A dominerer over 0. Gitt at 81% av populasjonen har blodtype 0, hva er da allelfrekvensen for A. Hvor stor prosentandel har genotypen AA?

0.1

A>O 
81% [O] ( q² = 0.81 ( q = 0.9 ( p = 0.1

p(AA) = p² = 0.01

4) Hos bananfluer er allelet for normal vingestørrelse (W) dominant over allelet for små vinger (w). I en populasjon bestående av 400 fluer er allelfrekvensen til W 0.6. Hvor mange fluer forventes å ha fenotypen for normale vinger?

336

N = 400 ; W>w ; p(W) = 0.6 ( p(w) = 0.4


N([W]) ?

p(WW) = p² = 0.36
( ( p([W]) = 0.84

p(Ww) = 2pq = 0.48
(
p(ww) = q² = 0.16

( N([W]) = 0.84 x 400 = 336

5) Anta at en gruppe på 500 personer bestemmer seg for å emigrere til ei ubebodd øy. En genetiker tester dem og finner ut at de sorterer som følgende; 50 er blodtype MM, 300 er MN og 150 er NN. Er dette en populasjon i likevekt?

No


50 MM
300 MN
150 NN
Total number = 500

(
p(MM) = 0.1
p(MN) = 0.6 
p(NN) = 0.3

( p² = 0.1 ( p = 0.316 ( q = 0.684 ( 2pq = 0.432 ( 0.6 ( Not in equilibrium

or: 0.1 + 0.432 + 0.3 = 0.832 ( 1

6) Følgende er genotypisk data for flere populasjoner som alle inneholder 200 individer. Frekvensen av r allelet er alltid 0.4. Hvilken av disse populasjonene er i Hardy-Weinberg likevekt? 
a. 48RR, 144Rr, 8rr b. 56RR, 128Rr, 16rr c. 64RR, 112Rr, 24rr d. 72RR, 96Rr, 32rr e. 75RR, 90Rr, 35rr  
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N = 200


N

q= 0.4 ( 
q² = 0.16
32



p² = 0.36
72



2pq = 0.48
96

7) Definer en populasjon.

s. 455

A population is a localized group of individuals belonging to the same species.

8) Forklar hvordan genetisk drift, gene flow, ikke-tilfeldig parring og naturlig seleksjon kan forårsake mikroevolusjon.
s. 460-462 

9) Beskriv forskjellige typer mutasjoner, vil de alltid gi en effekt på fenotypen? Hvorfor er det så få av de mutasjonene som oppstår som spres i en populasjon?

Point mutations, div. kromosomale mutasjoner. Nei. s 459.

10) Forklar hvilken rolle populasjonsstørrelsen spiller for genetisk drift.

s. 461

If the population size is small, allele frequencies will be able to change between generations, just because of “random errors” in the sampling which occurs between a generation and the next one, leading even to the disappearance of some alleles; i.e., causing genetic drift (random modification of allele frequencies in a small population).

Bottle neck effect and founder effect can reduce population sizes and generate, in that way, a genetic drift.

11)Hva er forutsetningen for at genetisk variasjon kan tas vare på i en naturlig populasjon. 

What is the condition which makes that genetic variation is preserved in a natural population?

s. 466-467

Diploidy: propagation of less favorable recessive alleles, not exposed to selection.

Balanced polymorphism through heterozygote advantage (ex.: sickle-cell disease and resistance to Plasmodium) and frequency-dependent selection which modifies alleles fitness according to their frequency in the population (ex.: variation of receptor molecules on cell membranes, detected by pathogenic agents and counter-selected in that way).

Neutral variation: The variations which have no impact on reproductive success escape from selection.

12) Beskriv hva seleksjonen virker på og hvilke faktorer som bidrar til fitnessen til en genotype. 

On what is acting selection? What are the factors which contribute to the fitness of a genotype?


s. 464

Selection acts on phenotypes, the traits exposed by an individual to its environment: physical traits, metabolism, physiology, behavior. The factors which contribute to the fitness of a genotype are the ones which increase the reproductive success of the organisms in which they are expressed, in the context of their external physical and biological environment, but also in the context of all the phenotypic characteristics which make the whole “integrated” individual, including its developmental process. These factors may imply a higher survival, but not necessarily: only if this higher survival implies more offspring.

13) Beskriv hvilke ulike former for naturlig seleksjon.

s. 465-466

Directional, diversifying and stabilizing selection.

14) Hvordan kan seksuell seleksjon resultere i forskjeller mellom kjønnene (dimorfisme)?

s. 468

15) Diskuter fordeler og ulemper ved kjønnet formering.

Discuss the advantages and disadvantages of sexual reproduction.

s. 469

- Twofold disadvantage in terms of increasing the number of the population, as half of the offspring only will, in a way, “effectively” reproduce.

- Advantage of maintaining and creating (through meiotic shuffling) genetic diversity, which allows to maintain different forms of a gene, the alleles, and to create different combinations of these alleles. These alleles will be available in the genetic pool of the population if the environmental factors/parameters change (cf. diploidy too). The environment also includes the evolving pathogens, to which, thanks to genetic variation, the population will be able to resist. On the opposite way, pathogens are responsible, as some researchers suggest it, of the selection pressure which maintains the advantage of sexual reproduction: some of the offspring will resist to illnesses to which other offspring (w/ other expressed alleles) will not resist. This is a short term advantage of being able to produce genetic diversity and, most of all, a possible causal explanation for the conservation of this diversity in the genetic pool.

16) Diskuter hvorfor naturlig seleksjon ikke resulterer i ”perfekte” organismer. 

s. 469-470.
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